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Exercise 7 11

1. Choose the correct answer. The value of 


A. 

B. 

C. 

D. 

Answer: C

∫
0

log( )dx

π

2 4 + 3 sinx

4 + 3 cos x

2

3

4

0

−2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JxGkmaObo53a


Watch Video Solution

2. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

dx

π

2 sinx − cos x

1 + sinx cos x

3. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
−

sin7 xdx

π

2

π

2

4. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
π

0

xdx

1 + sinx

https://dl.doubtnut.com/l/_JxGkmaObo53a
https://dl.doubtnut.com/l/_72Pu4E8LvMXy
https://dl.doubtnut.com/l/_2lNLHI11r9FR
https://dl.doubtnut.com/l/_V4uKYqQILWr9
https://dl.doubtnut.com/l/_XPBgQStKUjVv


5. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
π

0
log(1 + cos x)dx

6. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
2π

0
cos5 xdx

7. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

(2 log sinx − log sin 2x)dx

π

2

https://dl.doubtnut.com/l/_XPBgQStKUjVv
https://dl.doubtnut.com/l/_hag2cFihTYbS
https://dl.doubtnut.com/l/_q4uwvVeqxaue


8. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
a

0
dx

√x

√x + √a − x

9. Choose the correct answerThe Value of

is


(A) 0 (B) 2 (C)  (D) 1

Watch Video Solution

∫
−

(x3 + x cos x + tan5 x + 1)dx

π

2

π

2

π

10. Show that  if f and g defined as 

and 

Watch Video Solution

∫
a

0
f(x)g(x)dx = 2∫

a

0
f(x)dx

f(x) = f(a − x) g(x) + g(a − x) = 4

https://dl.doubtnut.com/l/_KdQbIoYze10g
https://dl.doubtnut.com/l/_P0CmL6bvnaXb
https://dl.doubtnut.com/l/_kOfVjpsU9nxR


11. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
4

0
|x − 1|dx

12. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

cos2 xdx

π

2

13. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

log(1 + tanx)dx

π

4

https://dl.doubtnut.com/l/_oeFCIWI0xZ0n
https://dl.doubtnut.com/l/_eA8DEACI2YEw
https://dl.doubtnut.com/l/_AyLWmx9KNGVe


14. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
2

0
x√2 − xdx

15. By using the properties of definite integral, evaluate the integrals

Watch Video Solution

∫
8

2

|x − 5|dx

16. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
1

0

x(1 − x)ndx

https://dl.doubtnut.com/l/_0rzMOpmYrQqV
https://dl.doubtnut.com/l/_NhNQRjqtu4Fb
https://dl.doubtnut.com/l/_yjq0t42RMJBm


17. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

π

2 cos5 xdx

sin5 + cos5 x

18. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

dx

π

2 √sinx

√sinx + √cos x

19. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
0

π

2 sin xdx
3
2

sin + cos x
3
2

3
2

https://dl.doubtnut.com/l/_ojq5FQi7KaIi
https://dl.doubtnut.com/l/_bG42mBU0yByp
https://dl.doubtnut.com/l/_rgulKmq7yCqq


Exercise 7 9

20. By using the properties of definite integrals, evaluate the integrals

Watch Video Solution

∫
5

− 5
|x + 2|dx

1. Evaluate the definite integrals

Watch Video Solution

∫
1

0

dx
2x + 3

5x2 + 1

2. Evaluate the definite integrals

Watch Video Solution

∫
1

0
xex

2
dx

https://dl.doubtnut.com/l/_LMvszwvtEO6n
https://dl.doubtnut.com/l/_tx0kHUIZTeT8
https://dl.doubtnut.com/l/_IrtyeIb1Te9s


3. Evaluate the definite integrals

Watch Video Solution

∫
2

1

5x2

x2 + 4x + 3

4. Evaluate the definite integrals

Watch Video Solution

∫
0

(2 sec2 x + x3 + 2)dx

π

4

5. Evaluate the definite integrals

A. 

B. 

C. 

D. 0

∫
1

0

dx

1 + x2

π

4

π

2

π

3

https://dl.doubtnut.com/l/_YhcFpKmrggaB
https://dl.doubtnut.com/l/_TDb1PP18AanQ
https://dl.doubtnut.com/l/_uEr0YkqqDWmN


Answer: B

Watch Video Solution

6. Evaluate the definite integrals

Watch Video Solution

∫
3

2

dx

x2 − 1

7. Evaluate the definite integrals

Watch Video Solution

∫
0

cos2 xdx

π

2

8. Evaluate the definite integrals

Watch Video Solution

∫
3

2

xdx

x2 + 1

https://dl.doubtnut.com/l/_uEr0YkqqDWmN
https://dl.doubtnut.com/l/_9rMvniriF3z8
https://dl.doubtnut.com/l/_JPZoA3wIFYLl
https://dl.doubtnut.com/l/_Yi98ZQhZqBQY


9. Evaluate the definite integrals

Watch Video Solution

∫
π

0

(sin2( ) − cos2( ))dx
x

2
x

2

10. Evaluate the definite integrals

Watch Video Solution

∫
2

0
dx

6x + 3

x2 + 4

11. Choose the correct answer equals 


(A)  


(B)  


(C)  


(D) 

Watch Video Solution

∫
√3

1

dx

1 + x2

π

3
2π

3
π

6
π

12

https://dl.doubtnut.com/l/_VjLC6Yxj6MVt
https://dl.doubtnut.com/l/_Q4xbA2HJeAbH
https://dl.doubtnut.com/l/_baTRSAcmjwwW


12. Evaluate the definite integrals

Watch Video Solution

∫
1

0
(xex + )dx

sin(πx)

4

13. Choose the correct answer (A)  (B)  (C)  (D)

Watch Video Solution

∫
0

2
3 dx

4 + 9x2

π

6

π

12

π

24
π

4

14. Evaluate the definite integrals

Watch Video Solution

∫
1

0

dx

√1 − x2

15. Evaluate the definite integrals

Watch Video Solution

∫ cos ecxdx

π

4

π

6

https://dl.doubtnut.com/l/_bAHTX2pouxxh
https://dl.doubtnut.com/l/_iHfnbphWEGk4
https://dl.doubtnut.com/l/_XMjAldW34Onk
https://dl.doubtnut.com/l/_jfFPNYMBbLvt


16. Evaluate the definite integrals

Watch Video Solution

∫
2

1
(4x3 − 5x2 + 6x + 9)dx

17. Evaluate the definite integrals

Watch Video Solution

∫
3

2
dx

1

x

18. Evaluate the definite integrals

Watch Video Solution

∫
1

− 1
(x + 1)dx

19. Evaluate the definite integrals

Watch Video Solution

∫
0

(tanx)dx

π

4

https://dl.doubtnut.com/l/_jfFPNYMBbLvt
https://dl.doubtnut.com/l/_mdcLhhK8mo5Z
https://dl.doubtnut.com/l/_tt4qpfkgzZT2
https://dl.doubtnut.com/l/_RZatNRjQZODd
https://dl.doubtnut.com/l/_kZwyHkTIAYZi
https://dl.doubtnut.com/l/_u4WTP1Xx08u1


Exercise 7 6

20. Evaluate the definite integrals

Watch Video Solution

∫
5

4

exdx

21. Evaluate the definite integrals

Watch Video Solution

∫
0

cos 2xdx

π

2

22. Evaluate the definite integrals

Watch Video Solution

∫
0

sin 2xdx

π

4

1. Integrate the function 

Watch Video Solution

x log 2x

https://dl.doubtnut.com/l/_u4WTP1Xx08u1
https://dl.doubtnut.com/l/_5xpsPxhbF23n
https://dl.doubtnut.com/l/_rUfpLYdMj0DE
https://dl.doubtnut.com/l/_cyG0aQfEbBv5


2. Integrate the function 

Watch Video Solution

x2 logx

3. Integrate the function 

Watch Video Solution

x sin− 1 x

4. Integrate the function 

Watch Video Solution

x logx

5. Integrate the function 

Watch Video Solution

x sinx

https://dl.doubtnut.com/l/_cyG0aQfEbBv5
https://dl.doubtnut.com/l/_IfyytR8IMTP0
https://dl.doubtnut.com/l/_Xa3DA5CkDuym
https://dl.doubtnut.com/l/_hwWBb9QzvAcN
https://dl.doubtnut.com/l/_V3SktYPh5T4f
https://dl.doubtnut.com/l/_ZQ9SNRQUEMaa


6. Integrate the function 

Watch Video Solution

sin− 1( )
2x

1 + x2

7. Choose the correct answer equals


(A)  (B)  (C)  (D) 

Watch Video Solution

∫x2ex
3
dx

ex
3

+ C
1

3
ex

2
+ C

1

3
ex

3
+ C

1

2
ex

2
+ C

1

2

8. Integrate the function 

Watch Video Solution

(x − 3)ex

(x − 1)3

9. Integrate the function 

Watch Video Solution

e2x sinx

https://dl.doubtnut.com/l/_ZQ9SNRQUEMaa
https://dl.doubtnut.com/l/_a9mrbAQ9llFR
https://dl.doubtnut.com/l/_S3If3vIJ5nXo
https://dl.doubtnut.com/l/_fXSi49qnrKAS
https://dl.doubtnut.com/l/_YYPTyMauLNkb


10. Integrate the function 

Watch Video Solution

ex( − )
1

x

1

x2

11. Integrate the function 

Watch Video Solution

ex( )
1 + sinx

1 + cos x

12. Integrate the function 

Watch Video Solution

(x2 + 1)logx

13. Integrate the function 

Watch Video Solution

x(logx)2

https://dl.doubtnut.com/l/_YYPTyMauLNkb
https://dl.doubtnut.com/l/_ICrwMvl2yJaP
https://dl.doubtnut.com/l/_s7ACyGa9M20c
https://dl.doubtnut.com/l/_PJByjhHMRQIC
https://dl.doubtnut.com/l/_somb4HFOS8gD


14. Integrate the function 

Watch Video Solution

xex

(1 + x)
2

15. Integrate the function 

Watch Video Solution

ex(sinx + cos x)

16. Integrate the function 

Watch Video Solution

x cos − 1 x

√1 − x2

17. Integrate the function 

Watch Video Solution

(sin− 1 x)
2

https://dl.doubtnut.com/l/_somb4HFOS8gD
https://dl.doubtnut.com/l/_7axQzKQDtZxN
https://dl.doubtnut.com/l/_ep0EYsV4zilF
https://dl.doubtnut.com/l/_fgMbmm7fj2GU


18. Integrate the function 

Watch Video Solution

tan− 1 x

19. Integrate the function 

Watch Video Solution

x sec2 x

20. Integrate the function 

Watch Video Solution

x tan− 1 x

21. Integrate the function 

Watch Video Solution

x cos − 1 x

https://dl.doubtnut.com/l/_nlSH2YrvKWS7
https://dl.doubtnut.com/l/_V9lqGAS8JGp0
https://dl.doubtnut.com/l/_ZCXpxGV0uOHo
https://dl.doubtnut.com/l/_8D3Q2jDUK3hu


Exercise 7 10

22. Integrate the function 

Watch Video Solution

x sin 3x

23. Integrate the function 

Watch Video Solution

x2ex

24. Choose the correct answer 


(A)  (B)  (C)  (D) 

Watch Video Solution

∫ex secx(1 + tanx)dx

ex cos x + C ex secx + C ex sinx + C ex tanx + C

1. Evaluate the integrals∫
0

dx

π

2 sinx

1 + cos2 x

https://dl.doubtnut.com/l/_dvgmqUxOcFu4
https://dl.doubtnut.com/l/_iptybgktSnSp
https://dl.doubtnut.com/l/_BELNTCOzpfMi
https://dl.doubtnut.com/l/_mb1wA582SHS2


A. 

B. 0

C. 

D. None of these

Answer: A

Watch Video Solution

π

4

π

2

2. Evaluate the integrals

Watch Video Solution

∫
1

− 1

dx

x2 + 2x + 5

3. Evaluate the integrals

Watch Video Solution

∫
2

0

dx

x + 4 − x2

https://dl.doubtnut.com/l/_mb1wA582SHS2
https://dl.doubtnut.com/l/_5WmU8EaVvXXc
https://dl.doubtnut.com/l/_DpNnximKhp49
https://dl.doubtnut.com/l/_s8Nkgosyr2r8


4. Evaluate: 

Watch Video Solution

∫
1

0

sin− 1( )dx
2x

1 + x2

5. The value of the integral 

 is

Watch Video Solution

1

∫

1 / 3

dx
(x − x3)

1 / 3

x4

6. Evaluate the integrals

Watch Video Solution

∫
2

0

x√x + 2

7. Choose the correct answer .If , then is

A. (A) 

f(x) = ∫
x

0
t sin tdt f ′ (x)

cos x + x sinx

https://dl.doubtnut.com/l/_s8Nkgosyr2r8
https://dl.doubtnut.com/l/_mygg7WL5E9vF
https://dl.doubtnut.com/l/_2Wxg9FYxAQny
https://dl.doubtnut.com/l/_ECYPlvPimXe7


B. (B) 

C. (C) 

D. (D) 

Answer: B

Watch Video Solution

x sinx

x cos x

sinx + x cos x

8. Evaluate the integrals

Watch Video Solution

∫
1

0
dx

x

x2 + 1

9. Evaluate the integrals

Watch Video Solution

∫
0

√sinϕ cos5 ϕdϕ

π

2

https://dl.doubtnut.com/l/_ECYPlvPimXe7
https://dl.doubtnut.com/l/_WF5saUG5S3ir
https://dl.doubtnut.com/l/_bQeGSS4zriWx


Exercise 7 7

10. Evaluate the integrals

Watch Video Solution

∫
2

1
( − )e2xdx

1

x

1

2x2

1. Integrate the functions

Watch Video Solution

√x2 + 4x + 6

2. Integrate the functions

Watch Video Solution

√1 − 4x − x2

3. Integrate the functions

Watch Video Solution

√x2 + 4x + 1

https://dl.doubtnut.com/l/_m71bwjn002Ra
https://dl.doubtnut.com/l/_jhzuOhwmYOIG
https://dl.doubtnut.com/l/_kuzL36daokR0
https://dl.doubtnut.com/l/_sGjyl8UhEiej


4. Integrate the functions 

Watch Video Solution

√1 + 3x − x2

5. Integrate the functions

Watch Video Solution

√x2 + 4x − 5

6. Integrate the functions

Watch Video Solution

√4 − x2

7. Integrate the functions

Watch Video Solution

√1 − 4x2

https://dl.doubtnut.com/l/_sGjyl8UhEiej
https://dl.doubtnut.com/l/_6udlzPQ5abGS
https://dl.doubtnut.com/l/_RTsymZd5H2DJ
https://dl.doubtnut.com/l/_jFZVzbklFvmf
https://dl.doubtnut.com/l/_phIEZSuvyMVp


8. Integrate the functions

Watch Video Solution

√1 +
x2

9

9. Integrate the functions

Watch Video Solution

√x2 + 3x

10. Choose the correct answer 

 is equal to

A. 

B. 

C. 

D. 

∫√1 + x2dx

√1 + x2 + log∣
∣(x + √x + x2)∣

∣ + C
x

2

1

2

(1 + x2) + C
2

3

3
2

x(1 + x2) + C
2

3

3
2

√1 + x2 + x2 log∣
∣x + √1 + x2∣

∣ + C
x2

2

1

2

https://dl.doubtnut.com/l/_phIEZSuvyMVp
https://dl.doubtnut.com/l/_Hwdof0VI58pC
https://dl.doubtnut.com/l/_073OCQIRmSn9
https://dl.doubtnut.com/l/_QTavWyuS3toK


Answer: A

Watch Video Solution

11. Choose the correct answer 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫√x2 − 8x + 7dx

(x − 4)√x2 − 8x + 7 + 9 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1

2

(x + 4)√x2 − 8x + 7 + 9 log∣
∣x + 4 + √x2 − 8x + 7∣

∣ + C
1

2

(x − 4)√x2 − 8x + 7 − 3√2 log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1

2

(x − 4)√x2 − 8x + 7 − ( )log∣
∣x − 4 + √x2 − 8x + 7∣

∣ + C
1

2

9

2

https://dl.doubtnut.com/l/_QTavWyuS3toK
https://dl.doubtnut.com/l/_CiKiT5Mp6e70


Exercise 7 5

12. Integrate the function 

Watch Video Solution

(x + 3)√3 − 4x − x2

13. Integrate : 

Watch Video Solution

∫x√x + x2dx

14. Integrate 

Watch Video Solution

(x + 1)√2x2 + 3

1. equal(A)  (B)

(C) (D) 

∫
dx

x(x2 + 1)
log|x| − log(x2 + 1) + C

1
2

log|x| + log(x2 + 1) + C
1

2
−log|x| + log(x2 + 1) + C

1

2

https://dl.doubtnut.com/l/_w3ZPntzoWzQV
https://dl.doubtnut.com/l/_FiovGgcFbszi
https://dl.doubtnut.com/l/_craNmAWhla0t
https://dl.doubtnut.com/l/_w94gacZ1yJBW


Watch Video Solution

log|x| + log(x2 + 1) + C
1

2

2. Integrate the rational functions

Watch Video Solution

1

x(x4 − 1)

3. equal

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
xdx

(x − 1)(x − 2)

log
∣
∣∣
∣

∣
∣
∣
∣

+ C
(x − 1)2

x − 2

log
∣
∣∣
∣

∣
∣
∣
∣

+ C
(x − 2)

2

x − 1

log
∣
∣∣
∣

∣
∣
∣
∣

+ C
(x − 1)2

x + 2

log|(x − 1)(x − 2)| + C

https://dl.doubtnut.com/l/_w94gacZ1yJBW
https://dl.doubtnut.com/l/_RhHxR05I4p64
https://dl.doubtnut.com/l/_tLarzT1PsOTr


4. Integrate the rational functions [Hint : Put ]

Watch Video Solution

1

(ex − 1)
ex = t

5. Integrate the rational functions

Watch Video Solution

3x + 5

x3 − x2 − x + 1

6. Integrate the rational functions

Watch Video Solution

x

(x − 1)2(x + 2)

7. Integrate the rational functions

Watch Video Solution

x

(x2 + 1)(x − 1)

https://dl.doubtnut.com/l/_tLarzT1PsOTr
https://dl.doubtnut.com/l/_RZHptlvgTEMx
https://dl.doubtnut.com/l/_KhBHyF9cdm2f
https://dl.doubtnut.com/l/_BxxuquqaJ8LF
https://dl.doubtnut.com/l/_5OFZFcD2sThJ


8. Integrate the rational functions

Watch Video Solution

1 − x2

x(1 − 2x)

9. Integrate the rational functions

Watch Video Solution

2x

x2 + 3x + 2

10. Integrate the rational functions

Watch Video Solution

x

(x − 1)(x − 2)(x − 3)

11. Integrate the rational functions

Watch Video Solution

3x − 1

(x − 1)(x − 2)(x − 3)

https://dl.doubtnut.com/l/_wA9aM05rkQfZ
https://dl.doubtnut.com/l/_o6v50DvKnNab
https://dl.doubtnut.com/l/_rK3fssHULUtX
https://dl.doubtnut.com/l/_UfFrRZAtlYUu


12. Integrate the rational functions

Watch Video Solution

1

x2 − 9

13. Integrate the rational functions

Watch Video Solution

x

(x + 1)(x + 2)

14. Integrate the rational functions

Watch Video Solution

(x2 + 1)(x2 + 2)

(x2 + 3)(x2 + 4)

15. Integrate the rational functions

Watch Video Solution

2x

(x2 + 1)(x2 + 3)

https://dl.doubtnut.com/l/_dVZ3dk02VBnP
https://dl.doubtnut.com/l/_MiJIEtNgatmZ
https://dl.doubtnut.com/l/_V3Mdq1KS4fA0
https://dl.doubtnut.com/l/_oYhbmAvRac77


16. Integrate the rational functions

Watch Video Solution

2x − 3

(x2 − 1)(2x − 4)

17. Integrate the rational functions

Watch Video Solution

5x

(x + 1)(x2 − 4)

18. Integrate the rational functions

Watch Video Solution

x3 + x + 1

x2 − 1

19. Integrate the rational functions

Watch Video Solution

2

(1 − x)(1 + x2)

https://dl.doubtnut.com/l/_To5gP9SCzbZa
https://dl.doubtnut.com/l/_OfmJaHfVsYYB
https://dl.doubtnut.com/l/_uK2hug1O9Gsy
https://dl.doubtnut.com/l/_PwQiyg89VrmB


20. Integrate the rational functions

Watch Video Solution

3x − 1

(x + 2)2

21. Integrate the rational functions

Watch Video Solution

1

x4 − 1

22. Integrate the rational functions [Hint: multiply

numerator and denominator by and put ]

Watch Video Solution

1

x(xn + 1)

xn− 1 xn = t

23. Integrate the rational functions [Hint: Put 

]

Watch Video Solution

cos x

(1 − sinx)(2 − sinx)

sinx = t

https://dl.doubtnut.com/l/_u8OfuDgmthjJ
https://dl.doubtnut.com/l/_LBSQODRglOqC
https://dl.doubtnut.com/l/_e7gg8ag6xbwV
https://dl.doubtnut.com/l/_WOOwc0XIbsB5


Miscellaneous Exercise

1. Integrate the functions

Watch Video Solution

x3

√1 − x8

2. Integrate the functions 

Watch Video Solution

cos3 xelog sin x

3. Integrate the functions

Watch Video Solution

1

cos(x − a)cos(x − b)

4. Integrate the functions
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

https://dl.doubtnut.com/l/_WOOwc0XIbsB5
https://dl.doubtnut.com/l/_wMHMtcK25jLz
https://dl.doubtnut.com/l/_ba6huScg9yKB
https://dl.doubtnut.com/l/_e8JHY182bSNv
https://dl.doubtnut.com/l/_O2vMxDwF9Sh4


Watch Video Solution

5. Integrate the functions

Watch Video Solution

cos x

√4 − sin2 x

6. Integrate the functions

Watch Video Solution

e5 logx − e4 logx

e2 logx − e2 logx

7. Integrate the functions

Watch Video Solution

1

x − x3

8. Integrate the functions

Watch Video Solution

e3 logx(x4 + 1)
− 1

https://dl.doubtnut.com/l/_O2vMxDwF9Sh4
https://dl.doubtnut.com/l/_tiYqySXC9z2B
https://dl.doubtnut.com/l/_kI8QSEpMoB0r
https://dl.doubtnut.com/l/_P1bW444ZNW6Y
https://dl.doubtnut.com/l/_n8W7goGLvYHU


9. Integrate the functions

Watch Video Solution

1

x√ax − x2

10. Integrate the functions

Watch Video Solution

1

√sin3 x sin(x + α)

11. Integrate the functions

Watch Video Solution

, x ∈ [0, 1]
sin− 1 √x − cos − 1 √x

sin− 1 √x + cos − 1 √x

12. Prove that

Watch Video Solution

∫
1

− 1

x17 cos4 xdx = 0

https://dl.doubtnut.com/l/_n8W7goGLvYHU
https://dl.doubtnut.com/l/_fyRx6pUx5vUa
https://dl.doubtnut.com/l/_OOokw16YERMe
https://dl.doubtnut.com/l/_VTCtNmMonCjc
https://dl.doubtnut.com/l/_WxARpL3vOkQv


13. Prove that

Watch Video Solution

∫
1

0
sin− 1

xdx = − 1
π

2

14. Integrate the functions

Watch Video Solution

5x

(x + 1)(x2 + 9)

15. Integrate the functions

Watch Video Solution

1

(x2 + 1)(x2 + 4)

16. Integrate the functions

Watch Video Solution

ex

(1 + ex)(2 + ex)

https://dl.doubtnut.com/l/_WxARpL3vOkQv
https://dl.doubtnut.com/l/_xmnBvp1ojw3m
https://dl.doubtnut.com/l/_PFCm4P5xv7SO
https://dl.doubtnut.com/l/_47bZPwxHxGgS
https://dl.doubtnut.com/l/_Ha8Jmg7UsrPs
https://dl.doubtnut.com/l/_KX5z7IyGrBDl


17. Integrate the functions

Watch Video Solution

1

√(x + a)(x + b)

18. Evaluate the definite integrals

Watch Video Solution

∫
1

0

dx

√1 + x − √x

19. Evaluate the definite integrals

Watch Video Solution

∫ dx

π

3

π

6

sinx + cos x

√sin 2x

20. Evaluate the definite integrals

Watch Video Solution

∫
0

π

2 cos2 xdx

cos2 x + 4 sin2 x

https://dl.doubtnut.com/l/_KX5z7IyGrBDl
https://dl.doubtnut.com/l/_hStCBIbNdwH9
https://dl.doubtnut.com/l/_FSzvTGZ078T3
https://dl.doubtnut.com/l/_by0dhccrOQxK
https://dl.doubtnut.com/l/_ljVFvVrEcH3k


21. Evaluate the definite integrals

Watch Video Solution

∫
0

dx

π

4 sinx cos x

cos4 x + sin4 x

22. Evaluate the definite integrals 

Watch Video Solution

∫
π

ex( )dx
π

2

1 − sinx

1 − cos x

23. Integrate the functions

Watch Video Solution

√x2 + 1[log(x2 + 1) − 2 logx]

x4

24. Integrate the functions

Watch Video Solution

tan− 1 √
1 − x

1 + x

https://dl.doubtnut.com/l/_ljVFvVrEcH3k
https://dl.doubtnut.com/l/_YwCmVV7fF43O
https://dl.doubtnut.com/l/_vLWCmzIaCcHG
https://dl.doubtnut.com/l/_7RMQFzIxjUHb
https://dl.doubtnut.com/l/_6TelFyObeuX0


25. Integrate the functions

Watch Video Solution

x2 + x + 1

(x + 1)2(x + 2)

26. Integrate the functions

Watch Video Solution

ex
2 + sin 2x

1 + cos 2x

27. Integrate the functions

Watch Video Solution

√
1 − √x

1 + √x

28. Evaluate the definite integrals

Watch Video Solution

∫
0

dx

π

4 sinx + cos x

9 + 16 sin 2x

https://dl.doubtnut.com/l/_6TelFyObeuX0
https://dl.doubtnut.com/l/_p8FtrrIHzA5T
https://dl.doubtnut.com/l/_WglMGVSmnN7E
https://dl.doubtnut.com/l/_JsEul78cfNtp
https://dl.doubtnut.com/l/_AxIy5kOC1Aov


29. Evaluate the definite integrals

Watch Video Solution

∫
0

sin 2x tan− 1(sinx)dx

π

2

30. Choose the correct answers is equal(A) 

 (B) C) 

 (D) 

Watch Video Solution

∫ dx
cos 2x

(sinx + cos x)2

+ C
−1

sinx + cos x
log|sinx + cos x| + C

log|sinx − cos x| + C
1

(sinx + cos x)2

31. Evaluate the definite integrals

Watch Video Solution

∫
π

0
dx

x tanx

secx + tanx

32. Evaluate the definite integrals

Watch Video Solution

∫
4

1
[|x − 1| + |x − 2| + |x − 3|]dx

https://dl.doubtnut.com/l/_AxIy5kOC1Aov
https://dl.doubtnut.com/l/_KornD4OiV2fJ
https://dl.doubtnut.com/l/_Izalo3cNkrzA
https://dl.doubtnut.com/l/_Ff9XD1qZvcZf


33. Prove that

Watch Video Solution

∫
3

1

= +
dx

x2(x + 1)

2

3

log 2

3

34. Prove that

Watch Video Solution

∫
1

0

xexdx = 1

35. Prove that

Watch Video Solution

∫
0

2 tan3 xdx = 1 − log 2

π

4

36. Prove that

Watch Video Solution

∫
0

sin3 xdx =

π

2 2

3

https://dl.doubtnut.com/l/_Ff9XD1qZvcZf
https://dl.doubtnut.com/l/_ha75axsiS99q
https://dl.doubtnut.com/l/_6fkVRvnY8RHj
https://dl.doubtnut.com/l/_YmLSYsnLe3cc
https://dl.doubtnut.com/l/_eQfEwDLKR2Xw
https://dl.doubtnut.com/l/_8DnpjMmXqs27


37. Integrate the functions

Watch Video Solution

sinx

sin(x − a)

38. Integrate the functions [Hint: 

, put ]

Watch Video Solution

1

x + x
1
2

1
3

=
1

x + x
1
2

1
3

1

x (1 + x )
1
3

1
6

x = t6

39. Integrate the functions

Watch Video Solution

1

x2(x4 + 1)
3
4

40. The value of is(A) 1 (B) 0 (C) -1 (D) 

Watch Video Solution

∫
1

0
tan− 1( )dx

2x − 1

1 + x − x2

π

4

https://dl.doubtnut.com/l/_8DnpjMmXqs27
https://dl.doubtnut.com/l/_CJciz2LcV0yf
https://dl.doubtnut.com/l/_235QCKmsJ6uu
https://dl.doubtnut.com/l/_VPM7cwmzb0zc


41. Choose the correct answers is equal to(A) 

 (B)  (C)  (D) 

Watch Video Solution

∫
dx

ex + e−x

tan− 1(ex) + C tan− 1(e−x) + C log(ex − e−x) + C

log(ex + e−x) + C

42. If , then is equal to(A) 

 (B) (C) 

(D) 

Watch Video Solution

f(a + b − x) = f(x) ∫abf(x)dx

∫abf(b − x)dx
a + b

2
∫abf(b + x)dx

a + b

2
∫abf(x)dx

b − a

2

∫abf(x)dx
a + b

2

43. Integrate the functions

Watch Video Solution

f' (ax + b)[f(ax + b)]n

https://dl.doubtnut.com/l/_VPM7cwmzb0zc
https://dl.doubtnut.com/l/_j4nZgep7WLGq
https://dl.doubtnut.com/l/_qWiwQxNmU7kP
https://dl.doubtnut.com/l/_QLgdgM6NYgZp


Exercise 7 3

44. Evaluate  as a limit of a sum.

Watch Video Solution

∫
1

0
e2 − 3xdx

1. Integrate the functions

Watch Video Solution

cos 2x + 2 sin2 x

cos2 x

2. Integrate the functions

Watch Video Solution

1

sinx cos3 x

3. Integrate the functions

Watch Video Solution

sin2 x

1 + cos x

https://dl.doubtnut.com/l/_xjmNxwxnsnPj
https://dl.doubtnut.com/l/_A1elyinairbk
https://dl.doubtnut.com/l/_YSqXcwbK0hlr
https://dl.doubtnut.com/l/_BqVduuhp6vCv


4. Integrate the functions

Watch Video Solution

cos 2x − cos 2α

cos x − cosα

5. Integrate the functions 

Watch Video Solution

sin4 x

6. Integrate the functions 

Watch Video Solution

cos4 2x

7. Integrate the functions 

Watch Video Solution

tan4 x

https://dl.doubtnut.com/l/_BqVduuhp6vCv
https://dl.doubtnut.com/l/_mPhBSlGAiaRe
https://dl.doubtnut.com/l/_63Fvy2nqCSCy
https://dl.doubtnut.com/l/_8Wqp7xak0Md9
https://dl.doubtnut.com/l/_Pp44kSKUJ7je
https://dl.doubtnut.com/l/_423X56PDlP4V


8. Integrate the functions

Watch Video Solution

sin3 x + cos3 x

sin2 x cos2 x

9. Integrate the functions

Watch Video Solution

cos x − sinx

1 + sin 2x

10. Integrate the functions 

Watch Video Solution

tan3 2x sec 2x

11.  equals

A. (A) 

B. (B) 

∫ dx
ex(1 + x)

cos2(ex ⋅ x)

−cot(ex ⋅ x) + C

tan(xex) + C

https://dl.doubtnut.com/l/_423X56PDlP4V
https://dl.doubtnut.com/l/_a5wRJadrG7Jj
https://dl.doubtnut.com/l/_lkAmsZzkrsWZ
https://dl.doubtnut.com/l/_aZyiiTCPRfHS


C. (C) 

D. (D) 

Answer: 

Watch Video Solution

tan(ex) + C

cot(ex) + C

B

12.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
sin2 x − cos2 x

sin2 x cos2 x

tanx + cot x + c

tanx + cos ecx + c

−tanx + cot x + c

tanx + secx + c

https://dl.doubtnut.com/l/_aZyiiTCPRfHS
https://dl.doubtnut.com/l/_lbYeuzbMzya4
https://dl.doubtnut.com/l/_lgW0v2ynZcXs


13. Integrate the functions 

Watch Video Solution

1

cos(x − a)cos(x − b)

14. Integrate the functions 

Watch Video Solution

sin− 1(cos x)

15. Integrate the functions

Watch Video Solution

cos 2x

(cos x + sinx)2

16. Find the integrals of the function 

Watch Video Solution

sin2(2x + 5)

https://dl.doubtnut.com/l/_lgW0v2ynZcXs
https://dl.doubtnut.com/l/_3xrZ5cwWDMOx
https://dl.doubtnut.com/l/_HVdEiBy6Bigp
https://dl.doubtnut.com/l/_lhB3AzY49AM1


17. Integrate the functions

Watch Video Solution

cos x
1 + cos x

18. Integrate the functions

Watch Video Solution

1 − cos x

1 + cos x

19. Find the integrals of the functions 

Watch Video Solution

cos 2x cos 4x cos 6x

20. Find the integrals of the functions 

Watch Video Solution

sin 3x cos 4x

https://dl.doubtnut.com/l/_OpAh1g2Oeru3
https://dl.doubtnut.com/l/_shas3ZxlCV3g
https://dl.doubtnut.com/l/_OwIbY19oaeIE
https://dl.doubtnut.com/l/_5OHTKdxBeW3I


21. Integrate the functions 

Watch Video Solution

sin3 x cos3 x

22. Find the integrals of the functions 

Watch Video Solution

sin3(2x + 1)

23. Integrate the functions 

Watch Video Solution

sin 4x sin 8x

24. Integrate the functions 

Watch Video Solution

sinx sin 2x sin 3x

https://dl.doubtnut.com/l/_XjN1bhLdnzLS
https://dl.doubtnut.com/l/_Akn47h0OZpEw
https://dl.doubtnut.com/l/_ESyBGHppzJ1H
https://dl.doubtnut.com/l/_dtKbpfULGfDi


Solved Examples

1. Evaluate 

Watch Video Solution

∫
1

− 1
5x4√x5 + 1dx

2. Evaluate 

Watch Video Solution

∫
1

0

dx
tan− 1 x

1 + x2

3. Find (i)  (ii) 

Watch Video Solution

∫ex(tan− 1x + )dx
1

1 + x2
∫ )dx
(x2 + 1)ex

(1 + x)2

4. Find 

Watch Video Solution

∫√x2 + 2x + 5dx

https://dl.doubtnut.com/l/_abrGd8R8cL6b
https://dl.doubtnut.com/l/_MFgDN4Jqwj4Z
https://dl.doubtnut.com/l/_0VvL3PS7bFjg
https://dl.doubtnut.com/l/_IWS2RWfVkKh6


5. Find 

Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

6. Find 

Watch Video Solution

∫ex sinxdx

7. Evaluate using limit sum 

Watch Video Solution

∫
2

0
exdx

8. Evaluate the following integrals:(i)  (ii) 

(iii)  (iv) 

∫
3

2
x2dx ∫

9

4
dx

√x

(30 − x )
23

2

∫
2

1

xdx

(x + 1)(x + 2)
∫

0

sin3 2t cos 2tdt

π

4

https://dl.doubtnut.com/l/_IWS2RWfVkKh6
https://dl.doubtnut.com/l/_97Lhi4j8UVlB
https://dl.doubtnut.com/l/_QN5vuMPGnXit
https://dl.doubtnut.com/l/_WWbWXHAVVbLG
https://dl.doubtnut.com/l/_MSwx3JVXaKAz


Watch Video Solution

9. Find 

Watch Video Solution

∫√3 − 2x − x2dx

10. Find  as the limit of a sum.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

0

(x2 + 1)dx

14
3

−
14
3

16

3

−
16

3

https://dl.doubtnut.com/l/_MSwx3JVXaKAz
https://dl.doubtnut.com/l/_AKGtmPODSJdx
https://dl.doubtnut.com/l/_JeJPhT7yzitc


11. Evaluate 

Watch Video Solution

∫
π

0

xdx

a2 .
cos

2
x + b2 sin2 x

12. Find 

Watch Video Solution

∫[log(logx) + ]dx
1

(logx)2

13. If  then  equals

Watch Video Solution

I = ∫(√cot x − √tanx)dx, I

14. Find 

Watch Video Solution

∫x cos xdx

https://dl.doubtnut.com/l/_1sWnFYTYmkee
https://dl.doubtnut.com/l/_pY65a1IEyvFf
https://dl.doubtnut.com/l/_hOiQ6xR2uifY
https://dl.doubtnut.com/l/_VAueXVeuPHuX
https://dl.doubtnut.com/l/_vJ0TH93wzUkC


15. Find 

Watch Video Solution

∫
x2 + x + 1

(x + 2)(x2 + 1)

16. Find 

Watch Video Solution

∫ dφ
(3 sinφ − 2)cosφ

5 − cos2 φ − 4 sinφ

17. Find 

Watch Video Solution

∫
x2

(x2 + 1)(x2 + 4)dx

18. Find 

Watch Video Solution

∫
3x − 2

(x + 1)2(x + 3)dx

https://dl.doubtnut.com/l/_vJ0TH93wzUkC
https://dl.doubtnut.com/l/_VEwLqYfTL1xp
https://dl.doubtnut.com/l/_auvLOIbiCZMS
https://dl.doubtnut.com/l/_MFAW6Ww9kV0G


19. Find 

Watch Video Solution

∫
dx

(x + 1)(x + 2)

20. Find the following integrals:(i) 

Watch Video Solution

∫ dx
x + 2

2x2 + 6x + 5

21. Find 

Watch Video Solution

∫xexdx

22. Find 

Watch Video Solution

∫ logxdx

https://dl.doubtnut.com/l/_yzgjfQuKnilc
https://dl.doubtnut.com/l/_aHOn24rYvcDp
https://dl.doubtnut.com/l/_XAPOSulqlcFz
https://dl.doubtnut.com/l/_60nUQaadVRlg


23. Write an anti derivative for each of the following functions using

the method of inspection:(i)  (ii)  (iii) 

Watch Video Solution

cos 2x 3x2 + 4x3 , x ≠ 0
1

x

24. Find the following integrals:(i)  (ii)  (iii)

Watch Video Solution

∫ dx
x3 − 1

x3
∫(x + 1)dx

2
3

∫(x + 2ex − )dx
2
3

1

x

25. Find the following integrals:(i)  (ii)

(iii) 

Watch Video Solution

∫(sinx + cos x)dx

∫cos ecx(cos ecx + cos x)dx ∫ dx
1 − sinx

cos2 x

https://dl.doubtnut.com/l/_ci9MJFQ9XuHk
https://dl.doubtnut.com/l/_onh35ptkRT9k
https://dl.doubtnut.com/l/_CT4eZ6RCDvpl


26. Find the anti derivative F of f defined by , where

Watch Video Solution

f(x) = 4x3 − 6

F (0) = 3

27. Integrate the following functions w.r.t. x:

(i)  


(ii)  


(iii)  


(iv) 

Watch Video Solution

sinmx

2x sin(x2 + 1)

tan4 √x sec2 √x

√x

( )
sin(tan− 1 x)

1 + x2

28. Find the following integrals:(i)  (ii)

 (iii) 

Watch Video Solution

∫sin3 x cos2 xdx

∫
sinx

sin(x + a)dx
∫ dx

1

1 + tanx

https://dl.doubtnut.com/l/_L1pIo8EGGW8N
https://dl.doubtnut.com/l/_RAP3b10f5IiH
https://dl.doubtnut.com/l/_KWqLDqhyLYFT


29. Find (i)  (ii)  (iii) 

Watch Video Solution

∫cos2 xdx ∫sin 2x cos 3xdx ∫sin3 xdx

30. Find the following integrals:(i)  (ii) 

Watch Video Solution

∫
dx

x2 − 16
∫

dx

√2x − x2

31. Find the following integrals :(i)  (ii)

Watch Video Solution

∫
dx

x2 − 4x + 13

∫
dx

3x2 + 13x − 10

32. integrate this

Watch Video Solution

∫ dx
x2 + 1

x2 − 5x + 6

https://dl.doubtnut.com/l/_KWqLDqhyLYFT
https://dl.doubtnut.com/l/_q7NNheSJ8LYs
https://dl.doubtnut.com/l/_ReUputNEFUbI
https://dl.doubtnut.com/l/_MIdvLhhp5hud
https://dl.doubtnut.com/l/_AJldmcpsObLq


33. Find 

Watch Video Solution

∫
sin 2x cos 2xdx

√9 − cos4(2x)

34. Evaluate 

Watch Video Solution

∫
1

|x sin(πx)|dx

3
2

35. Find 

Watch Video Solution

∫
x4dx

(x − 1)(x2 + 1)

36. Find 

Watch Video Solution

∫ dx
(x4 − x)

1
4

x5

https://dl.doubtnut.com/l/_AJldmcpsObLq
https://dl.doubtnut.com/l/_6jK1COpqW8Ct
https://dl.doubtnut.com/l/_EIRQWzFMjvmX
https://dl.doubtnut.com/l/_vRGFTPeQOLdp
https://dl.doubtnut.com/l/_DIQpm9uJDKdO


37. Evaluate 

Watch Video Solution

∫
−

sin2 xdx

π

4

π

4

38. Evaluate 

Watch Video Solution

∫
2

− 1

∣∣x
3 − x∣∣dx

39. Evaluate 

Watch Video Solution

∫
1

− 1

sin5 x cos4 xdx

40. Evaluate 

Watch Video Solution

∫
π

0
dx

x sinx

1 + cos2 x

https://dl.doubtnut.com/l/_5t23F5VNilm6
https://dl.doubtnut.com/l/_6aEww6aXZraW
https://dl.doubtnut.com/l/_c9VYOMRfzn99
https://dl.doubtnut.com/l/_ULgI7Hp8qCQj
https://dl.doubtnut.com/l/_pf5AqIHpK9GT


41. Evaluate 

Watch Video Solution

∫

π

3

π

6

dx

1 + √tanx

42. Evaluate 

Watch Video Solution

∫
0
( )dx

π

2 sin4 x

sin4 x + cos4 x

43. Find 

Watch Video Solution

∫cos 6x√1 + sin 6xdx

44. Evaluate 

Watch Video Solution

∫
0

log sinxdx

π

2

https://dl.doubtnut.com/l/_pf5AqIHpK9GT
https://dl.doubtnut.com/l/_U81TBoN20Ujc
https://dl.doubtnut.com/l/_KYIOYjVZVnac
https://dl.doubtnut.com/l/_855s1olJjlE7


Exercise 7 1

45. Find 

Watch Video Solution

∫x√1 + x − x2dx

46. Find the following integrals: 

Watch Video Solution

∫ dx
x + 3

√5 − 4x + x2

1. Find the integral

Watch Video Solution

∫ dx
x3 + 3x + 4

√x

2. Find the integral

Watch Video Solution

∫ dx
x3 − x2 + x − 1

x − 1

https://dl.doubtnut.com/l/_fMTOsuScIkjy
https://dl.doubtnut.com/l/_H1wBglqXNaKD
https://dl.doubtnut.com/l/_dXttjiqMuDqp
https://dl.doubtnut.com/l/_iMdntqvkZklg


3. The anti derivative of equals(A)  (B)

(C)  (D) 

Watch Video Solution

(√x + )
1

√x
x + 2x + C

1

3

1
3

1
2

x + x2 + C
2

3

2
3

1

2
x + 2x + C

2

3

3
2

1
2 x + x + C

3

2

3
2

1

2

1
2

4. Find the integral

Watch Video Solution

∫ dx
2 − 3 sinx

cos2 x

5. If such that Then f(x) is(A) 

 (B) (C)  (D)

Watch Video Solution

f(x) = 4x3 −
d

dx

3

x4
f(2) = 0.

x4 + −
1

x3

129

8
x3 + +

1

x4

129

8
x4 + +

1

x3

129

8

x3 + −
1

x4

129

8

https://dl.doubtnut.com/l/_iMdntqvkZklg
https://dl.doubtnut.com/l/_ludcvQQPypzH
https://dl.doubtnut.com/l/_qsPOQwrJ8vD6
https://dl.doubtnut.com/l/_SYUb9BfjmcD6


6. Find an anti derivative (or integral) of the following functions by

the method of inspection.

Watch Video Solution

e2x

7. Find an anti derivative (or integral) of the following functions by

the method of inspection.cos 3x

Watch Video Solution

8. Find an anti derivative (or integral) of the following functions by

the method of inspection.sin 2x

Watch Video Solution

9. Find the integral ∫x2(1 − )dx
1

x2

https://dl.doubtnut.com/l/_WACkaFD6Gchk
https://dl.doubtnut.com/l/_LLsi7M0lFbxW
https://dl.doubtnut.com/l/_eCRLF198J59c
https://dl.doubtnut.com/l/_h7nIoTXPhkmp


Watch Video Solution

10. Find the integral 

Watch Video Solution

∫(4e3x + 1)dx

11. Find an anti derivative (or integral) of the following functions by

the method of inspection.

Watch Video Solution

sin 2x − 4e3x

12. Find an anti derivative (or integral) of the following functions by

the method of inspection.

Watch Video Solution

(ax + b)2

13. Find the integral∫(2x2 + ex)dx

https://dl.doubtnut.com/l/_h7nIoTXPhkmp
https://dl.doubtnut.com/l/_gGvVJEBJKqZa
https://dl.doubtnut.com/l/_rELQ9V9u1bBX
https://dl.doubtnut.com/l/_tAGE25hrp2Dj
https://dl.doubtnut.com/l/_HuRJKjtLhZ5F


Watch Video Solution

14. Find the integral

Watch Video Solution

∫(ax2 + bx + c)dx

15. Find the integral

Watch Video Solution

∫secx(secx + tanx)dx

16. Find the integral

Watch Video Solution

∫ dx
sec2 x

cos ec2x

17. Find the integral

Watch Video Solution

∫(1 − x)√xdx

https://dl.doubtnut.com/l/_HuRJKjtLhZ5F
https://dl.doubtnut.com/l/_uC4D5oP6lAxM
https://dl.doubtnut.com/l/_EHiNZbBjWNaF
https://dl.doubtnut.com/l/_PaMyc95CUepV
https://dl.doubtnut.com/l/_QJq3dFXYp1lF


18. Find the integral

Watch Video Solution

∫√x(3x2 + 2x + 3)dx

19. Find the integral

Watch Video Solution

∫(2x − 3 cos x + ex)dx

20. Find the integral

Watch Video Solution

∫(2x2 − 3 sinx + 5√x)dx

21. Find the integral

Watch Video Solution

∫(√x − )

2

dx
1

√x

https://dl.doubtnut.com/l/_QJq3dFXYp1lF
https://dl.doubtnut.com/l/_8ACdGgXHsoKV
https://dl.doubtnut.com/l/_Ll7EoSRiUPMv
https://dl.doubtnut.com/l/_cOqucbAF05EI
https://dl.doubtnut.com/l/_peUm0vyK0VoS


Exercise 7 8

22. Find the integral

Watch Video Solution

∫ dx
x3 + 5x2 − 4

x2

1. Evaluate the following definite integrals as limit of sums.

Watch Video Solution

∫
4

1

(x2 − x)dx

2. Evaluate the following definite integrals as limit of sums.

Watch Video Solution

∫
1

− 1

exdx

3. Evaluate the following definite integrals as limit of sums.∫
b

a

xdx

https://dl.doubtnut.com/l/_XuzUwlRKW9rx
https://dl.doubtnut.com/l/_EKfMD1zCDGk0
https://dl.doubtnut.com/l/_hQZWItmd9AxV
https://dl.doubtnut.com/l/_mccUGTkEz2kY


Exercise 7 2

Watch Video Solution

4. Evaluate the following definite integrals 

Watch Video Solution

∫
4

0
(x + e2x)dx

5. Evaluate the following definite integrals as limit of sums.

Watch Video Solution

∫
5

0

(x + 1)dx

6. Evaluate the following definite integrals as limit of sums.

Watch Video Solution

∫
3

2
x2dx

https://dl.doubtnut.com/l/_mccUGTkEz2kY
https://dl.doubtnut.com/l/_2415hWQWB6qG
https://dl.doubtnut.com/l/_L78n0mGIL0Lb
https://dl.doubtnut.com/l/_iAO72EesszPs


1. Integrate the functions

Watch Video Solution

, x > 0
x

√x + 4

2. Integrate the functions

Watch Video Solution

1

x − √x

3. Integrate the functions

Watch Video Solution

x2

(2 + 3x3)3

4. Integrate the functions

Watch Video Solution

(x3 − 1) x5
1
3

https://dl.doubtnut.com/l/_0o8lAGbk6QTi
https://dl.doubtnut.com/l/_qgeyTJygojl4
https://dl.doubtnut.com/l/_mtfM5emPosBY
https://dl.doubtnut.com/l/_31v8xkvTpKsC


5. Integrate the functions

Watch Video Solution

x

9 − 4x2

6. Integrate the functions

Watch Video Solution

, x > 0
1

x(logx)m

7. Integrate the functions

Watch Video Solution

x

ex
2

8. Integrate the functions 

Watch Video Solution

e2x+ 3

https://dl.doubtnut.com/l/_Smy1derTU3bW
https://dl.doubtnut.com/l/_CwORdIFnyn5J
https://dl.doubtnut.com/l/_5Ekg3IsCCYpv
https://dl.doubtnut.com/l/_qbCaB7grPHS0


9. Integrate the functions

Watch Video Solution

e2x − 1

e2x + 1

10. Integrate the functions

Watch Video Solution

etan ( − 1 )x

1 + x2

11. Integrate the functions

Watch Video Solution

(logx)
2

x

12. Integrate the functions

Watch Video Solution

1

x + x logx

https://dl.doubtnut.com/l/_m2izxAuQSDWP
https://dl.doubtnut.com/l/_JeRN0JilumSY
https://dl.doubtnut.com/l/_QWMD4SHHd3Rw
https://dl.doubtnut.com/l/_ayamKJvyLGEd


13. Integrate the functions

Watch Video Solution

2x

1 + x2

14. Integrate the functions 

Watch Video Solution

√ax + b

15. Integrate the functions 

Watch Video Solution

x√x + 2

16. Integrate the functions 

Watch Video Solution

sinx sin(cos x)

https://dl.doubtnut.com/l/_EkCBWtB6nqjF
https://dl.doubtnut.com/l/_f5MDfvkCPInC
https://dl.doubtnut.com/l/_xqQfvpBockEn
https://dl.doubtnut.com/l/_EMHApb333i2Y


17. Integrate the functions 

Watch Video Solution

sin(ax + b)cos(ax + b)

18. Integrate the functions 

Watch Video Solution

x√1 + 2x2

19. Integrate the functions

Watch Video Solution

(4x + 2)√x2 + x + 1

20.  equals 


(A)  


(B) 


∫
dx

sin2 x cos2 x

tanx + cot x + C

tanx − cot x + C

https://dl.doubtnut.com/l/_cDsd4mnWM9VY
https://dl.doubtnut.com/l/_Lc12qfw8XtWB
https://dl.doubtnut.com/l/_8pcJkYm8QVT8
https://dl.doubtnut.com/l/_nFyV1F28bEAF


(C)  


(D) 

Watch Video Solution

tanx cot x + C

tanx − cot 2x + C

21. equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
10x9 + 10x loge10 dx

x10 + 10x

10x − x10 + C

10x + x10 + C

(10x − x10)
− 1

+ C

log(10x + x10) + C

22. Integrate the functions
x3 sin(tan− 1 x4)

1 + x8

https://dl.doubtnut.com/l/_nFyV1F28bEAF
https://dl.doubtnut.com/l/_RQVHrF40gbCN
https://dl.doubtnut.com/l/_tNfWqo7Ko1KS


Watch Video Solution

23. Integrate the functions

Watch Video Solution

(1 + x)(x + logx)
2

x

24. Integrate the functions

Watch Video Solution

(1 + logx)2

x

25. Integrate the functions

Watch Video Solution

√tanx

sinx cos x

26. Integrate the functions

Watch Video Solution

1

1 − tanx

https://dl.doubtnut.com/l/_tNfWqo7Ko1KS
https://dl.doubtnut.com/l/_JHjfoMp2O3dH
https://dl.doubtnut.com/l/_C4wcF5I7nzz6
https://dl.doubtnut.com/l/_VvEy6FWN2FL9
https://dl.doubtnut.com/l/_Jes1VrgejBqt


27. Integrate the functions

Watch Video Solution

1

1 + cot x

28. Integrate the functions

Watch Video Solution

sinx

(1 + cos x)2

29. Integrate the functions

Watch Video Solution

sinx

1 + cos x

30. Integrate the functions

Watch Video Solution

cos x

√1 + sinx

https://dl.doubtnut.com/l/_Jes1VrgejBqt
https://dl.doubtnut.com/l/_NSV0N41Uh8Xm
https://dl.doubtnut.com/l/_O2DGmaELfMMW
https://dl.doubtnut.com/l/_KGlDaGjwTljx
https://dl.doubtnut.com/l/_k6z6Rdfr9BYb


31. Integrate the functions 

Watch Video Solution

cot x log sinx

32. Integrate the functions

Watch Video Solution

e2x − e− 2x

e2x + e− 2x

33. Integrate the functions 

Watch Video Solution

tan2(2x − 3)

34. Integrate the functions 

Watch Video Solution

sec2(7 − 4x)

https://dl.doubtnut.com/l/_PwqE7qOhFIcv
https://dl.doubtnut.com/l/_bSIbib4FQloM
https://dl.doubtnut.com/l/_aLZjNOZBI7Jr
https://dl.doubtnut.com/l/_sVR9RszeQlPc
https://dl.doubtnut.com/l/_A5oyJ2dVWgMx


35. Integrate the functions 

Watch Video Solution

sin− 1 x

√1 − x2

36. Integrate the functions

Watch Video Solution

2 cos x − 3 sinx

6 cos x + 4 sinx

37. Integrate the functions

Watch Video Solution

1

cos2 x(1 − tanx)2

38. Integrate the functions

Watch Video Solution

cos √x

√x

https://dl.doubtnut.com/l/_A5oyJ2dVWgMx
https://dl.doubtnut.com/l/_wUwF5BFX8opV
https://dl.doubtnut.com/l/_NsUPUB2uCI8k
https://dl.doubtnut.com/l/_2yLFrrt7UM2v


Exercise 7 4

39. Integrate the functions

Watch Video Solution

√sin 2x cos 2x

1. Integrate the functions

Watch Video Solution

x + 3

x2 − 2x + 5

2. Integrate the functions

Watch Video Solution

5x + 3

√x2 + 4x + 10

3. Integrate the functions

Watch Video Solution

x + 2

√4x − x2

https://dl.doubtnut.com/l/_3HYpbAj1ehPl
https://dl.doubtnut.com/l/_RYKUDpJ2bzpA
https://dl.doubtnut.com/l/_Ys3GZKfXXbgc
https://dl.doubtnut.com/l/_FuErKEJJfQ1j


4. Integrate the functions

Watch Video Solution

x + 2

√x2 + 2x + 3

5. equals(A)  (B)

(C)  (D) 

Watch Video Solution

∫
dx

x2 + 2x + 2
x tan− 1(x + 1) + C

tan− 1(x + 1) + C (x + 1)tan− 1 x + C tan− 1 x + C

6. equals(A)  (B)

(C)  (D)

Watch Video Solution

∫
dx

√9x − 4x2
sin− 1( ) + C

1

9

9x − 8

8

sin− 1( ) + C
1

2

8x − 9

9
sin− 1( ) + C

1

3

9x − 8

8

sin− 1( ) + C
1

2

9x − 8

9

https://dl.doubtnut.com/l/_FuErKEJJfQ1j
https://dl.doubtnut.com/l/_6tmShlX7r3NG
https://dl.doubtnut.com/l/_LAtyc0YB4pWg
https://dl.doubtnut.com/l/_dWqgIhqmcguz


7. Integrate the functions

Watch Video Solution

1

√7 − 6x − x2

8. Integrate the functions

Watch Video Solution

x + 2

√x2 − 1

9. Integrate the functions

Watch Video Solution

4x + 1

√2x2 + x − 3

10. Integrate the functions

Watch Video Solution

1

√(x − a)(x − b)

https://dl.doubtnut.com/l/_yjFWo7FoQVcQ
https://dl.doubtnut.com/l/_AL2ffgSIXfWg
https://dl.doubtnut.com/l/_D0S19W8fFrs2
https://dl.doubtnut.com/l/_kegoGMG9jGUe


11. Integrate the functions

Watch Video Solution

1

√8 + 3x − x2

12. Integrate the functions

Watch Video Solution

1

√(x − 1)(x − 2)

13. Integrate the functions

Watch Video Solution

1

9x2 + 6x + 5

14. Integrate the functions

Watch Video Solution

1

√x2 + 2x + 2

https://dl.doubtnut.com/l/_RLrnV4mNYXVG
https://dl.doubtnut.com/l/_x1VkAV2bK4Td
https://dl.doubtnut.com/l/_jTvCHWcqyhtG
https://dl.doubtnut.com/l/_UXYDW8v2dWDK


15. Integrate the functions

Watch Video Solution

6x + 7

√(x − 5)(x − 4)

16. Integrate the functions

Watch Video Solution

5x − 2

1 + 2x + 3x2

17. Integrate the functions

Watch Video Solution

3x2

x6 + 1

18. Integrate the functions

Watch Video Solution

1

√1 + 4x2

https://dl.doubtnut.com/l/_XNamjnIeTiep
https://dl.doubtnut.com/l/_sku4GudYDmmV
https://dl.doubtnut.com/l/_gkNI5P9qQisj
https://dl.doubtnut.com/l/_S9TrUjCV3sMN


19. Integrate the functions

Watch Video Solution

1

√(2 − x)2 + 1

20. Integrate the functions

Watch Video Solution

1

√9 − 25x2

21. Integrate the functions

Watch Video Solution

3x

1 + 2x4

22. Integrate the functions

Watch Video Solution

x2

1 − x6

https://dl.doubtnut.com/l/_lTWfBQJyLkd5
https://dl.doubtnut.com/l/_DWYKmzyNYXz2
https://dl.doubtnut.com/l/_eHLw2UCpDrr2
https://dl.doubtnut.com/l/_ObteBBu9UvqW
https://dl.doubtnut.com/l/_QPs8zQ7XBuT8


23. Integrate the functions

Watch Video Solution

x − 1

√x2 − 1

24. Integrate the functions

Watch Video Solution

x2

√x6 + a6

25. Integrate the functions

Watch Video Solution

sec2 x

√tan2 x + 4

https://dl.doubtnut.com/l/_QPs8zQ7XBuT8
https://dl.doubtnut.com/l/_VINt88LEFrDf
https://dl.doubtnut.com/l/_nkC3cD9bxod6

